Вариант 1
Решите уравнение
1. 2 sin x – 1 = 0;
2. [image: http://www.mathematics.ru/courses/algebra/content/javagifs/63261552666097-3.gif] + 1 = 0;
3. 6 sin2 x – 5 cos x + 5 = 0;
4. 3 sin2 x – 4 sin x cos x + cos2 x = 0;
5. sin2 x – 9 sin x cos x + 3 cos2 x = –1.
6. Найдите корни уравнения sin 2x = cos 2x, принадлежащие отрезку [–1; 4].
Вариант 2
Решите уравнение
1. 2 cos x –  = 0;
2. [image: http://www.mathematics.ru/courses/algebra/content/javagifs/63261552666128-6.gif]
3. cos2 x + 2 sin x + 2 = 0;
4. 6 sin2 x = 5 sin x cos x – cos2 x;
5. 5 sin2 x + 2 sin x cos x – cos2 x = 1;
6. Найдите корни уравнения sin 3x + cos 3x = 0, принадлежащие отрезку [0, 6].
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